Managerial Accounting
Acct 2301

Summer II 2008

Chapter 3 Quiz

1.  The Hamptons Company sells a product at $50 per unit that has unit variable costs of $30. The company's break-even sales volume is $100,000. How much profit will the company make if it sells 6,000 units? 
a. $200,000 
b. $120,000 
c. $100,000 
d. $  60,000

e. None of the above
2.  Rifkin Company has not reported a profit in four years. This year the company would like to narrow its loss to $10,000. Assuming its selling price is $32 per unit and its variable costs per unit are $24, how many units must be sold to achieve its target given that total fixed costs are $50,000? 
a. 7,500 
b. 5,000 
c. 1,875 
d. 1,250

e. None of the above
3. Newman Company produces a product that has a selling price of $25.00 and a variable cost of $13.00 per unit. The company's fixed costs are $60,000. What is the breakeven point measured in sales dollars? 
a. $115,385

b. $152,000 
c. $  60,000 
d. $  45,000

e. None of the above
4.  Wodtli, Inc. produces a product that has a variable cost of $6.00 per unit.  The company’s fixed costs are $30,000.  The product sells for $10.00 per unit.  The company has a budgeted profit of $20,000.  What is the company’s margin of safety in number of units?


a.  
12,500


b.   
 7,500


c.   
 5,000


d.    
3,000


e.   
None of the above

5.  Magnus Inc. produces a product that has a variable cost of $17 per unit.  The company’s fixed costs are $60,000.  The product is sold for $37 per unit and the company desires to earn a target profit of $40,000.  What amount of sales would be necessary to earn the desired profit?


a.
$85,000


b.
$74,000


c.
$111,000


d.
$185,000


e.
None of the above
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